
 29 

  -   1 3 
 

    …… 

41 - 17 = ….. 

 
 

 

45 

  - 28 
 

    …… 

 52 

  - 34 
 

    …… 

67 

-  25 
 

    …… 

91 

 -    51 
 

    …… 

80 

 -   35 
 

    …… 

46 

  -   1 4 
 

    …… 

71 

  -  38 

 

    …… 

64 

 -   27 
 

    …… 

53 

 -   39 
 

    …… 

89 

 -   54 
 

    …… 

96 

 -   53 
 

    …… 

    76 

 -   38 
 

   …… 

70 - 25 = ….. 

 
 

 

87 - 34 = ….. 

 
 

 

63 - 43 = ….. 

 
 

 

92 - 56 = ….. 

 
 

 

24 - 8 = ….. 

 
 

 

75- 34= ….. 

 
 

 

52 - 23 = ….. 

 
 

 

64 - 17 = ….. 

 
 

 

87 - 45 = ….. 

 
 

 

96 - 64 = ….. 

 
 

 

50 - 16= ….. 

 
 

 

 
 
 

ÇIKARMA  İŞLEMİ 

         1. Etkinlik: Aşağıdaki çıkarma işlemlerini yapıp şifreyi bulalım. 

 

 
 
 
 
 
 
 
 

 
 

 
 
 
 
 
 
 
 
 
  

 

 
 
 

     2. Etkinlik: Aşağıdaki çıkarma işlemlerini yapıp şifreyi bulalım. 
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